Math 3 Advanced
6.5 Practice Part 2 with KEY

Determine the remainder of a polynomial expression using long division.

1. (4y* —5y* — 8y +3) + (2y — 3) 2. (32' —22% — 627 + 192 — 10) = (3z — 2)
3. (T2t — 523 + 3522 — 462 + 15) + (Tz — 5) 4. (3a* —2a® — 9a% + 12a — 4) + (3a — 2)
5. (22 -32% —z+2)+ (22 +1) 6. (3214723 —Tzx+2)+ (32 —2)

7. (4c* —17¢3 + 8¢? + 23¢ — 10) + (4c — 1) 8. (2a*—9a® — 12a® + 29a + 30) + (2a + 3)
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Answer List

3 -2z 45
a®—3a+2
@3+ 322 + 22— 1
a® — 6a? + 3a + 10

1. 23 +3y2+2y—1

3. 23+5r—3

5 a3 -2 4+a2—-1, R=3
7. -4 +c+6, R=—4
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